Stat 103 - Due Monday, 3-10-14

Quiz 3

Name _______________________________

Example From the Simple Linear Regression Notes - Part II

Although you will have plenty of opportunities to use software to determine the best fitting regression line for a sample of bivariate data, it might be useful to go through the process once by hand for the "toy" data set: 
	x
	1
	2
	4
	5

	y
	8
	4
	6
	2


Rather than using the equations (1.7) and (1.8) in the class notes, start with
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and find,
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(using only the definition of the inverse of a 2 x 2 matrix given in the linear algebra review), and, 
(d)
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. This should be the vector of intercept and slope regressing of Y on X . 
Show your work, i.e., show me your calculations.

(e) Perform the analyses in parts (a) - (d) again using software or a calculator to confirm the answers. 
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